Multiplicera med tio befogenheter (antal saknas)

9,678 x

5,422 x

3,464 x

9,51 x

= 2008

= 9678

=54.22

= 34.64

4, 688 x

8, 186 x

2,72 %

= 9510

= 46.88

= 818.6

10, 954 x

7,711 %

=272

=109.54

= 7711
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9,523 x

3,091 x

6, 867 %

2,83 %

Datum:

4, 447 x

3,894 x

5,676 %

2,136 %

9, 868 x

10, 03 x

=952.3

= 3091

= 6867

= 2830

— 44.47

= 3894

=567.6

= 2136

= 9868

=100.3

Poéng:
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Multiplicera med tio befogenheter (antal saknas)

namn:

2,008 x 1000 = 2008

9,678 x 1000 = 9678

5,422 x 10 = 54.22

3,464 x 10 = 34.64

9,51 x 1000 = 9510

4,688 x 10 = 46.88

8, 186 x 100 = 818.6

2,72 x 100 =272

10,954 x 10 = 109.54

7,711 x 1000 = 7711

Datum: Poéng:

9,523 x 100 =952.3

3,091 x 1000 = 3091

6, 867 x 1000 = 6867

2,83 x 1000 = 2830

4,447 x 10 = 44.47

3,894 x 1000 = 3894

5,676 x 100 = 567.6

2,136 x 1000 = 2136

9, 868 x 1000 = 9868

10,03 x 10 = 100.3
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